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Correct Answer B
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Correct Answer A
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Correct Answer D

Marks 1
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Correct Answer A
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Correct Answer A
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Comprehension

Question Description

A

Correct Answer

Marks

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to

communicate, and above all, its primary role in evolving cultural identities.

Identify from the options given below, the synonym of the phrase “global impoverishment”

universal depletion

poverty of the earth

local enrichment

poverty in the world

None of the above



52 Comprehension

Question Description

Correct Answer

Marks

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to

communicate, and above all, its primary role in evolving cultural identities.

From the options provided below, select the one that is closest in meaning to the phrase “with growing intensity the crucial factor”
as implied in the passage.

with increasing vigour the pivotal part

with increasing anxiety the unique part

with intense worry the significant role

with excessive concern the important role

None of the above



53 Comprehension

Question Description

A

Correct Answer

Marks

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to

communicate, and above all, its primary role in evolving cultural identities.

Identify the word from the passage that is farthest in meaning to “central” as implied in the passage

peripheral

indispensable

pivotal

intense

None of the above



54 Comprehension

Question Description

A

Correct Answer

Marks

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to

communicate, and above all, its primary role in evolving cultural identities.

As per the passage, evolving cultural identity is the prime contribution to human society made by

oral tradition

language and mother tongue

process of communication

development of human creativity

None of the above



55 Comprehension

Question Description

A

Correct Answer

Marks

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to

communicate, and above all, its primary role in evolving cultural identities.

The human society gets culturally impoverished when

the relationship with nature is hindered

human creation is undermined

oral tradition is lost

when a language disappears

None of the above
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Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which state/UT released the 'SAMRIDDHI', a one-time property tax amnesty scheme?
Guijarat

Jammu and Kashmir

Andhra Pradesh

New Delhi

None of the above

Which education board has launched the mobile application "Dost for Life"?
ICSE Board
CBSE Board
Open Board

All of above

None of the above



58 Question Description Asia's Largest Compressed Biogas Plant has been inaugurated in which state?

A Punjab
B Haryana
c Gujarat
D Madhya Pradesh
E None of the above
Correct Answer A
Marks 1

59 Question Description Which IT company and the Indian government will collaborate on a programme to educate its digital toolkit?
A Apple
B Dell
c Microsoft
D Wipro
E None of the above
Correct Answer C

Marks 1



60 Question Description

61

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

What is the theme for the International Day of the Girl Child 20227
Courage and perseverance

Good vs. Evil

Redemption

Our time is now-our rights, our future

None of the above

Durgavati Tiger Reserve, which was notified recently, is located in which state/UT?
Andhra Pradesh

West Bengal

Maharashtra

Madhya Pradesh

None of the above



62 Question Description

63

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Who has launched a special WhatsApp helpline number for pregnant women?
WCD

NCW

MHA

MoHFW

None of the above

How many satellites have been placed into orbit by ISRO's heaviest rocket LVM3 M27?
31
36
35

32

None of the above



64 Question Description Which country and the Indian Air Force are participating in "Garuda VI," a bilateral exercise?

A Australia
B Sri Lanka
c France
D Japan
E None of the above
Correct Answer C
Marks 1
65 Question Description Where was India's Second National Model Vedic School inaugurated recently?
A Dwarka
B Puri
c Badrinath
D Guwahati
E None of the above
Correct Answer B

Marks 1



66 Question Description choose which pair of numbers comes next.
17321929 212623

A 2525

B 20 22

c 2325

D 2522

E None of the above
Correct Answer C

Marks 1



67 Question Description Find the missing Numbers

36 © 9 |1

LA

88 |11 9o ]?

120 2 6 |18

A 54,41

B 17,82

(o 17,10

D 96,13

E None of the above
Correct Answer C

Marks 1



68 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.

PASTORAL : RURAL

A metropolitan : urban
B harvest : autumn

c agrarian : benevolent
D sleepy : nocturnal

E None of the above
Correct Answer A

Marks 1



69 Question Description How many such pairs of letters are there in the 'CONDITIONAL' each of which has as many letters between them in the word as in

the English Alphabet?
A One
B Two
c Three
D Four
E None of the above
Correct Answer E

Marks 1



70" Question Description There is a certain relationship between two given pair on both side of '::' . One word is given on another side of '::' while
another word is to be found from the given options, having the same relation with this word as the words of the given pair .
Choose the correct word from the following options.

taxonomy : Classification : : Pedology : ?

A Nature

B Farming

c Soil

D Mountain

E None of the above
Correct Answer C

Marks 1



71 Question Description Each question given below consists of a statement, followed by three or four arguments numbered I, Il, Il and IV. You
have to decide which of the arguments is/are 'strong' arguments) and which is/are 'weak' arguments) and accordingly
choose your answer from the alternatives given below each question.

Statement: Should trade unions be banned completely?
Arguments:

I. Yes. Workers can concentrate on production.
Il. No. This is the only way through which employees can put their demands before the management.
ll. Yes. Employees get their illegal demands fulfilled through these unions.

IV. No. Trade unions are not banned in other economically advanced countries.

A Only I is strong

B Only Il is strong

c Only I and Il are strong

D Only I, Il and Il are strong
E None of the above

Correct Answer B

Marks 1



2 Question Description Four of the following five are related to each other in terms of English alphabet series and thus form a group. Which of the

following does not fit to that group?

A FUX

B PKN

Cc HSV

D MNP

E None of the above
Correct Answer D

Marks 1



73 Question Description A wheel that has 6 cogs is meshed with a larger wheel of 14 cogs. When the smaller wheel has made 21 revolutions,
then the number of revolutions mad by the larger wheel is:

A 4

B 9

(@ 12

D 49

E None of the above
Correct Answer B

Marks 1



74 Question Description A train 800 metres long is running at a speed of 78 km/hr. If it crosses a tunnel in 1 minute, then the length of the tunnel (in meters)

1s:

A 130

B 360

c 500

D 540

E None of the above
Correct Answer C

Marks 1



75 Question Description There is a certain relationship between two given pair on both side of '::' . One word is given on another side of '::' while
another word is to be found from the given options, having the same relation with this word as the words of the given pair .
Choose the correct word from the following options.

Tectonics : Building : : Taxidermy : ?

A Classification

B Conserving

Cc Stuffing

D Collecting

E None of the above
Correct Answer C

Marks 1



